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QUESTION 1

A customer has a requirement to provide disaster recovery for an application. The application has an RPO of 30 mins,
with an RTO of 15 mins. How can HPE 3PAR Remote Copy help meet the customer\\'s specified requirements in the
most cost effective manner?

A. by using Periodic Asynchronous Replication with an interval of 15 mins

B. by using Synchronous Long Distance Mode

C. by using Synchronous Replication

D. by using Streaming Asynchronous replication with an interval of 15 mins

Correct Answer: A

QUESTION 2

A customer needs a new replication solution that makes use of capacity efficiency technologies, even though data is
being replicated to another array. You have been developing a solution that includes two HPE 3PAR arrays. What
should you emphasize in your proposal?

A. The arrays share deduplication hash tables, and the target array only needs to compress the replicated data from the
source array

B. Compression technologies increase the effective bandwidth being available for replication and disaster recovery
C. Thin Technologies, deduplication, and compression can be used on both sides with volumes in Remote Copy groups
D. The data being replicated will travel the connection between the arrays fully compressed and deduplicated

Correct Answer: D

QUESTION 3

You are starting an assessment to design a new multi-storage environment for a customer. You have collected data on
all the current arrays using SAF collector. What should be the next step in your design process?

A. Open the .zip file with NinjaSTARS

B. Import the .zip file into OCA

C. Send the .zip file to OCAImport@hpe.com
D. Upload the .zip file to the SAF Portal

Correct Answer: D
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QUESTION 4

A customer wants an HPE 3PAR array with about 400,000 IOPS and over 6000 MBs per second through ?put at 16K
block size. What should you consider in your design?

A. Focus the configuration on the effective capacity ratio rather than data reduction ratio

B. Adhere to the initiators per port, initiators per system, and fan-in/fan-out limits in SPOCK
C. Configure the HA-enclosure to protect against enclosure failure

D. Ensure that the write 10 service time on the array is under 2ms

Correct Answer: A

QUESTION 5
A customer has two HPE Nimble arrays that are replication partners. The replication schedule is set to every hour.
After replication completed at 1:00pm, the array at the primary site suffers a power failure.

Applications were failed over successfully by the administrators, and production continued on the secondary site array
as designed.

At 3:00pm, the power was restored to the primary site array.

What does the administrator need to do first to restore services in the primary site?
A. Perform handover from the secondary array to the primary array

B. Create a new replication partnership from the primary array to the secondary array
C. Create a new replication partnership from the secondary array to the primary array
D. Perform a failback of the existing replication partnership to the primary array

Correct Answer: A
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